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Instructions :
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FHATITE TG JIAHGHIN, GEha-d AGHIn= |

55T dd 7 &1, J& T4 T & I GeHd 7 & g |

Answer all questions in Sanskrit, unless instructions are given
otherwise.

ST o797 TN GUST: Tl |

39 J97-97 § AR @S 3 |

There are four sections in this question paper.

Qs & ST — SFaaiey (3Tafsary — raaier) 15 3T

SECTION A (Unseen Reading Comprehension)

T ug: @ GERdA THTCHHTEY (TEhd H THHICHS IEH) 15 3T
SECTION B (Writing Skills in Sanskrit)
Que: T gfedre — STaEIgs TRhadleere Ii=d: =

(4fSAmRr — Y Ud HEehd Hiiged 1 GR=F)  40+10=50 3HET:

SECTION C (Reading Comprehension and Introduction
to History of Sanskrit Literature)
guE: b FRISATN: (Tg T FAFR) 20 3TET:

SECTION D (Metres and Figures of Speech)
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@vus: < (SECTION A)
AATSATIT — AN
AUTSATI — T
Unseen Reading Comprehension 15 37gT:

FYIfRgay Sf=segd dfecdl YeaH TeHH H&hdd I

frfcIfiaa gFT 3Tg=sal ol dgeRt 1CT T T o 3T TFhd H ST

Read the following two passages and answer the given questions in
Sanskrit :

(%) TI: Hq:

Tl fean wafd — ST=afth! Sem 9 | 3TEHTeh H4: hiH-shig-al9-His-
Aied-oaeifd g: I W — saed WH fourg gaffor smefr
Afewf= | TaHa dREETsar AU AEwEh | T Hag-faene-srie-
TRy HAY TIHY TSAy WY | o ARy SyqEEmET
FHWMT: Fehivh: goard, 37 Jefrep: WA weigen 9 =gastf~ | Tacad
e e guHEET WesdiaE Yafdaq | e oftRm auTere
gffssar: AATTERT: TP TEesaINdTaH T SIEshM $af-d | 370 Td FHd

YaTYETT I UMY TRY A 9 qHfYeh TesdiRuiay: ged |
AT

(37) UehUSH I |
T yee 1 I AT |

Answer in one word. —x2=1
(i) 3T WA h: QY I &I ?
(i)  WffsSar: AFTHERT: AR ThHY SFTEHM Haf=d ?

(F) qulaTeRH I |

U Fe § I T |

Answer in a complete sentence. 2x1=2
JCRTeRT: a: RA TGN | SRl ?

3 P.T.O.
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(®) Ferfeym I |

| 1
Answer as directed. —x4=2
¢ [N (RN 2
() Sulcwf’ st framaes shug forq 2

(i) ‘orgAT 3fd ygey foh AWy 3T Ry ?

(iii) ‘IHARH 3fd 9T Toh foeiivaeHs SRy ?

(iv) ‘wfafssar:” sfa foremore foorsy form 2
(@) fgfa: sig=se;

T F had TH-TGURIHE] Gae Jg& Jui-afed, Afug deh 3=
IHRIM: Ty 7Y fo=miar: | aqr wa: Feepe e #iwm faafd, aa
TR Y STy Hoh HEwqUl TSHITdeRiasan: Ay Afdar: | =I=mHed |
i ve G, TS 270 Tl STerl =7 T B — TARATT IIfoSeTy
IZ TG TR = | 39 e 9 had U9, IAfug o TEEA ﬁsﬁr
AR TEwaen = |
q94T:

(31) UHIH I |
T Weg H I T |

Answer in one word. 1x2=2
(i) TEOEURIHEY G9aed YU auid $F 31fed ?
(i) 9a: 3 9 foafa ?

(|) qolameRH I |

Ul I § IR ST |

Answer in a complete sentence. 2x1=2
T Shiget dgAfd: e ?

(m) Fficym I |
[ECHIGCINCA IS E I

Answer as directed. Ix4=4
() e gf fshameE wTg fh 2
i) TEa 3 vew T facvoems w2
(iil) ITARE: 3 foRorRy forsy fohq 2
(iv) ‘=TqdH IS hd GHMIYHH fohq ?
(3) T IT=0eH Hhd IUYh ITHeh T&had forEd |

39 3TTRE o T IUIYh I¥eh T&hd W fAIRaT |
Write a suitable title for this passage in Sanskrit. 2

4
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Qus: @ (SECTION B)
GEhd TATCHRAETH
HEHA T TATHS @
Writing Skills in Sanskrit 15 37I:
HouTd: Sfaaegehar Taical Teifciigal el g4: T fored

oW § 3fd Tgehd ookt fIfcTRad shem sl 9 hieh fAfE :
Complete and rewrite the following story, with the help of the words

given in the box below : Ix10=10
T
FEAHT THT (4) T | e IEM: Td: (i) q: o
ﬁ?l?ﬂ?l?ﬂ{ SIBNBICE A | 9 4: Th Hehel-ATHS (spider) shieq 399Iq_ |
@ (iid) i Y swa A (iv) T 31d | A |
TmER ¥ fukm (v) | Tag goeal |: (vi) IcdTed aiyun
(vii) AT (viid) gofedr $eal T (ix)
SATHAT Hedl (x) TIa: | gegud I — “OF ety | wmsay |7

HSH

e, steear, foselt, Teefag@:, i, TS, Te90, Yo, ) 9,

qa: |

HoS[Td: YETH forean Wigehi:’ i forem HAfUehed usa e HEehdd O ¢
HSSWT H UG FAR WYhR [o¥d T EERd | Ut 19 foien

Write five sentences in Sanskrit on ‘Paropakara’ with the help of the

words given in the box below : Ix5=5

HesH

s, e, |f, "geIgewn:, Sfiad, T, Hedvy, ufedy, wafd, @umE:,
T, ISR, Ja:, T, Hatd, fomm:, au: |

5 P.T.O.
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FYIfARad eI, 9E, TS 9 uldcal EduRA H%hdd 3T ¢

Qvus: T (SECTION C)

TSATI — AT TR geaed uied: o
ST — STTAYA TS TERd HIeed hl Urad
Reading Comprehension and Introduction
to History of Sanskrit Literature

40+10=50 37gI:

frferfaa e, e qe Aresiw i YgRt fou U gl o I gEhd § 4T
Read the following prose, poetry and drama passages and answer the
given questions in Sanskrit :

(%)

94T

(3)

TEATIT:

7 e weafa | 9 yaureRetafa | 3 @mmEfgEa | 9 foeivsar foemefa | 3
FRHAGEId | T99d T A9 | SEEaeTEtd ATfertd SWH. | Iore-d | 99 |
god F weafd | Y HuehivE diEdfd | forfld Avedld | ogen "eedEtd |
ACMFHGAN | EEEy I Ay IR IeRran: foeder: qafd
TIM:, YISl & Tesid |

TehYed 39 |
T WG § IR AN |

Answer in one word.

() EH: % T 9wd ?

(i) A&H): o HUHHT TNE(T ?
qUiETeRH 3T |

U Je § TR T |

Answer in a complete sentence.

e} & 9 AT ?

T 3T |
e I G |

Answer as directed.

() ‘go o foemag fohe ?

(i) ‘waf=d’ 3fd fshamaees sque ford ?

6

i><2=1

2x1=2

Ix2=2
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(@)

Ci

LB

TR Tty SR gy -Rayegusrafurty: formd: |
TUOTRAT Yeidtehed e, Fefg foepema: af~ w=a: fohama: 1|

TehYed 394 |
T yiee 1 I AR |

Answer in one word. —x2=1
G) o forefe fTewaf< 2

(i) &=d: o qUIT: WAl ?

quiaTeR 3T |

ol g § I @R |

Answer in a complete sentence. Ix2=2

g-a: T paf ?

JTfeIm I |
Ty 3T G |

Answer as directed. 1x2=2
() ‘=< 3fa fraies squg foeq 2

(i) TR or yataug fohy ?

ATSATIN:

ISE| : (vfow, wmay) erfasmaa: wuifucrq oIHl @
FoAfiareRed 2 (fafaa) s qefagyen 3fi oW
A | W)mﬁmﬁwme

TSIl :  ATIHM T: |

g B IR Cracicll

36t : TR I | (EgeE TEear ofeway) fesenm [
HATIHTRAARA AT | IRa: |

T . 914 | gaIsfy dEcfs | (I TEiedn) STEl, 9 had

ST Cga-e, holeey-SeATeT TR =
TOYGHIERT | STd | 99y @ gEquedeRy |

7 P.T.O.
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TehYed 394 |
T yee 1 I AT |

Answer in one word.

(i) = R yommuE: ?

(i) d: M AVETERITH FoBd ?
(¥) qofameRH 3T |

qul 9T § IR T |

Answer in a complete sentence.
TE: HY THYGHIA ?

(|) FefeE™ A |
TG I T |

Answer as directed.
(i) ‘PHGH T TAE: & ?

(i) ‘CgeeH 3fa faersesy famyomg foy 2

T
(37)

yregre et faea |

Iea 1 AT § e wtes foafeay |

Match the words with their meanings and rewrite the same.
Jeql: Ao

(1) wqaH (i)  STEhRuT

() (i) TEEH

(|) w&E (i) Fream

(g) ek (iv) ITREHTq

{@ITgUeT MY SRAHA Hed |

@IfeRd TGl o YR W TA-Faf0r I |

Frame questions on the basis of the underlined words.

() T fore firg: waviepTics wel srenveT fehfeugieredifa |
(i) ~ STERIN: GSdl; Yehd: Ha: |

(i) gt o Rae g |

(iv) HYgT: 96 TEg d¢ MY Jehel: wai-d |

8

Ivo=1

2x1=2

Ix2=2

I g4=2

Ix4=4
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FeifaRganmaTeEt:  Reremyld FesEIeasEaan el fofad
frefefad gt wenet & woow § feu u wregt 1 wEEar @ fokweEi i gfd
Tk fafau :

Fill in the blanks in the following two explanations with the help of the

words given in the box and rewrite the same :

(31) “Sumaretig Hel Afcehed STCAT S|
o IR WSSl | e g 117
wramel:
afeq () aq felech wwewmfe, aq wem Gi)
STHAfEd | a%qd: GuRe |9y (iii) T (iv)
afed | om@: 7T (v) oo i de: | TS ey
(vi)____ @9 9 Hhaed: |

(F) “TETeHth: ddd % wH THR |
1T EITET-hH JRHTHAITT T&: 117
wramel:
fipeor:  Jufesrfa - Fd (@) M SR
(ii) HOA | I e (i) T HATT HUTT Tl
(iv) T8 T (V) J wald | W@ g: (vi) Sl
T a I |

TS

Teh:, HHGBCH, A, TEH:, HHI, §=&:, TAR, ANTHET,
TEY, ST, g, I |

9 P.T.O.

3x2=6
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FGIIRGAT: TeAIRal: 3Taagd  Nreayfd $ed
frfcfiad g1 Tarehi o Fadi H Tk €A1 i qfd hIT
Fill in the blanks in the following prose-order-renderings of the two
verses : 1 é+1é=3
(1) AR fafafgiem:
qUEE AHGARRE |
formmafafdseryremmg
FHaredl(l: Heaidieegard ||
AT
faferm: amgmrRmh §) fosetaemmrg @ qued fafiaq
(ii) hedlerd Faredit: 3fd (iii) |
() omTHiER T wEi-
famfudisyg Teefaom |
g 1 Feremeafada=m
a1 ARFHARTURCEATd ||
AT
guTHGER w 7R (1) oy o1 | @ A (i) i
CReCISRIREIRANETHY) T4 YT 3R |

eIy I |

ﬁéﬁllﬂall I T |

Answer as directed. 10
(31)  whug feramag = f=a |

shdl Td fehamag T |
Select the subject and the verb. Ix2=2

(i) YR e fEEe aguase Tesid |
(i) TS Tohel LTSGR FaicHT Jadd |
(@)  ferrorg fogd |

formivor ug 9w |
Select the adjective. I1x2=2

(i) Taafeld: T RIS A Iaeafd |
(i)  TTCA BT ®&: STGgR: JgRia: 1 |
10
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FfARGdUfhgd TTTgqEaTHIG 1T TH ?

fr=fefiga gt dfrai o T@ifrd wem g fohTeh foTe w1 gu & 2

In the following two lines for whom are the underlined pronouns
used ? I1x2=2

() fafmfererandiaadsmes § Meameuesesmfed |

(i) ¥ TEcuuTl, TaEae T:hT SIERTH A1 |

AfIRgquiFaed TshA:’ qo1 qus:’ 3fd Ygdl: @HMIe 9q fuean
foEa :

frafafaa 4 § @ Tk’ qen gue’ Ugi o T Ug e ffE ¢
Select and write the synonyms of the words ‘rsp:’ and ‘TS
from the following line : Ix2=2

g Tty HEgaT g NSHEMER TSN Td SRHUEE
afad: I9ay_ |

: o BT ?

I forEehl HE @I & ?

Who is saying this to whom ? I1x2=2

(i) ra ! fed o grar ? TR a1 qay ?

(i) ToH ! TEateqT qafd, TRfdd ¢a: avareard |

A ARTATE R HETY TR heded I fo1@d :
frfafaa orgepi & Tl ueR rex o1 7 fafaw .

Write the names of any one work of each of the following poets : 1x5=5
HIfIGH:, FYTATY S, AT, Hga:, Yayfd: |

IGIARGATIAHT @1 AT foEa

frafaRaa st & @t & Tm il

Write the names of the authors of the following works : Ix5=5

TersaTeraym, fRTarsITy, dTSToft e, TYg-TH:, HETYRaY |

11 P.T.O.
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(3)

@vus: 9 (SECTION D)
BEISAGNI:
Metres and Figures of Speech

T 3T |

Tl % I T |

Answer the questions.

(i) ‘fama:’ o i oL 2

(i) ‘gl o Y 3fd g e a1 ?

SN fARGAT TS quq

Frerferfiae w5 qof i
Complete the following definitions :
i) g avemdia sl
(i) wiggesmafed |
(iii) FgIehIATEY __ TYWH |
(iv) __ gad It ifiteieh: |

ANTARGTT: TR Ted: ISR forad :
fFafafed 4 9 e o< 1 3 fafau

Write an example of any one of the following metres :

HISLY, TG dAHT

refcrfaauecar: fo o &a: ?

frefefaa afeqel & SH-SH-91 B< 8 ?

What is the metre in the following lines ?

G)  gaf: shfafeRe fifgen dah: @ g |
(i) TRt Sardt W 9= |

12

10+10=20 3 I:

Ix2=2

Ix4=4

2x1=2

Ix2=2
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ANTARGTA: FEITRET T AST HIE & forEq
frffigd § 9 forelt TR IeQagR 1 HigTe A& ffe

Write the definition and example of any one of the following

TSETAZH :
I, THHY_ |
IrefeAiada: Feftdme AATAE AR 9 foreq :

frfafiga o @ forelt wen stafergr o1 aeror v 3erew fafau .
Define and illustrate any one of the following YTAIEK :

37T, ®YHY_ |

srefeiadugae: sTagr i
fferfaa dfe § stergr w1 fidw hifsw
Indicate the figure of speech in the following lines :

(1)  whikipaamETd & faet fowacadtd sgarea |
(i) IfEafha g~ s |
freafarfea gt aftumret =6t qui Hifa

Complete the following definitions of the two figures of speech :

() Wed=mEl |

(ii) 3T ThaT YCHAT |

13

Ix2=2

Ix2=2



